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DESIGN OF QUESTION PAPER

ECONOMICS

Class - XII

Marks - 100.








Duration-3 hrs.[image: image1.png]
WEIGHTAGE BY TYPES OF QUESTIONS

	Type
	Number of questions 
	Marks
	Total
	Estimated time a candidate is

expected to take to answer

	Long answer questions
	6
	6
	36
	60 minutes

	Short answer questions I
	6
	4
	24
	36 minutes

	Short answer questions II
	10
	3
	30
	50 minutes

	Very short answer questions
	10
	1
	10
	15 minutes

	Total
	32
	
	100
	


WEIGHTAGE BY CONTENT

	UNIT NO
	UNIT
	MARK

	1
	Introduction
	4

	2
	Consumer Behavior and Demand
	18

	3
	Producer Behavior and Supply
	18

	4
	Forms of Market and Price determination
	10

	5
	National income accounting
	15

	6
	Money and banking
	8

	7
	Determination of income and employment
	12

	8
	Government budget and economy
	8

	9
	Balance of payment
	7

	
	Total
	100


DIFFICULTY LEVEL OF THE QUESTION PAPER

	Level
	Marks
	% age of the total marks

	Difficult
	20
	20

	Average
	50
	50

	Easy
	30
	30

	Total
	100
	100


SCHEME OF OPTIONS

There is no overall choice. However, there is an internal choice in one question of 6 marks, one question of 4 marks and one question of 3 marks in each section. Thus there will be internal choice to 3 questions. 



SAMPLE PAPER 2011

Class – XII

Subject – Economics

Time: 3 Hrs 










Maximum Marks: 100
	


General Instruction:

1. All questions in both the sections are compulsory.

2. Question Nos. 1-5 and 17 - 21 are very short- answer questions carrying 1 mark each. They

Are required to be answered in one sentence each

3. Question Nos. 6-10 and 22-26 are short-answer questions carrying 3 marks each. Answer to

Them should not normally exceed 60 words each.

4. Question Nos. 11-13 and 27-29 are also short- answer questions carrying 4 marks each.

Answer to them should not normally exceed 70 words each.

5. Question Nos. 14-16 and 30-32 are long-answer questions carrying 6 marks each. Answer

To them should not normally exceed 100 words each..

6. Answer should be brief and to the point and the above word limit be adhered to as far as

Possible.
	Introductory Micro Economics

1. What gives rise to an economic problem?

2. What happens to total expenditure on a commodity when its price falls and its demand is price elastic?

3. Define law of demand.

4. What change will take place in marginal product, when total product increases at a diminishing rate?

5. What is the price elasticity of supply of a commodity whose straight line supply curve passes through the X-axis?

6. Explain the shape of a production possibility frontier.

OR

Explain the central problem of distribution in an economy.

7. State any three factors that cause an ‘increase’ in demand of a commodity.

8. Given below is the utility schedule of a consumer for commodity X.The price of the commodity is Rs. 6 per unit. How many units should the consumer purchase to maximize satisfaction? (Assume that utility is expressed in utils and 1 util = Re. 1). Give reasons for your answer.

Consumption               Total utility              Marginal utility

        (units) 

     (utils) 

        (utils)

1 

        10 

            10

2 

        18     


8

3 

        25    


7

4      

        31    


6

5         
       
        34   


3

6 

        34                                     0 

9. The price elasticity of supply of good X is half the price elasticity of supply of Good Y. A 10% rise in the price of good Y results in a rise in its supply from 400 units to 520 units. Calculate the percentage change in quantity supplied of good X when its price falls from Rs 10 to Rs 8per unit.

10. Explain the implication of ‘product differentiation’ feature of monopolistic competition.

11. Explain the effect of a rise in the prices of ‘related goods’ on the demand for a good X. 

12. Explain the relation between marginal revenue and average revenue when a firm is able to sell more quantity of output

a. At the same price.

b. Only by lowering the price.

OR

Explain the effect of the following on the supply of a commodity:

a. Fall in the prices of factor inputs.

b. Rise in the prices of other commodities.

13. State features of a Monopolistic Competition market.

14. Define producer’s equilibrium. Explain the conditions of producer’s equilibrium in terms of Total Cost and Total Revenue. Use diagram.

15. Which of the following statements are true or false? Give reasons:

a. When zero output TVC also zero.

b. MC curve shape inverse of S.

c.  When MP is positive, TP increasing.

16. There is a simultaneous ‘decrease’ in demand and supply of a commodity. When will it result in:

a. No change in equilibrium price.

b. A rise in equilibrium price. Use diagrams.

Or

Explain the effects of ‘increase’ in supply of a good on its equilibrium price and equilibrium quantity with the help of a schedule and diagram.

Introductory Macro Economics




17. What is a fiat money?

18. Define ‘aggregate supply’

19. What is the relationship between marginal propensity to consume and Marginal propensity to save?

20. How is primary deficit calculated?
21. Give one reasons for a rise in demand for a foreign currency when its price falls.
22. From the following data relating to a firm, calculate its net value added at factor cost :

(Rs. in Crores)

(i) Subsidy 









40

(ii) Sales 









800

(iii) Depreciation 








30

(iv) Exports 









100

(v) Closing stock 








20

(vi) Opening stock 








50

(vii) Intermediate purchases 







500
OR

From the following data calculate national income :

Rs.(Crores)

(i) Compensation of employees 






800

(ii) Rent 









200

(iii) Wages and salaries 







750

(iv) Net exports 








(-30)

(v) Net Factor income from abroad 






(-20)

(vi) Profit 









300

(vii) Interest 









100

(viii) Depreciation 








50
23. How does money solve the problem of double coincidence of wants?
24. Give three sources each of demand and supply of foreign exchange.
25. What is meant by foreign exchange market? Explain the main functions of the foreign exchange market?
26. What are the implications of a large revenue deficit? Give two measures to reduce this deficit
27. State the role of central bank as a banker to the government.

OR

Describe the following functions of money:-

(a) Medium of exchange

(b) Standard of deferred payment
28. As a result of increase in investment national income rises by Rs. 600 crores. If marginal propensity to consume is 0.75, calculate the increase in investment.
29. Distinguish between (i) tax and non-tax revenues and (ii) developmental and non-developmental expenditures.
30. Explain the meaning of equilibrium level of income and output with the help of saving and investment curves. If planned expenditure is less than planned output, what changes will take place in the economy?

31. Giving reasons explain how the following are treated while estimation national income:

(i) Payment of fees to a lawyer engaged by a firm.

(ii) Rent free house to and employee by an employer.

(iii)Purchases by foreign tourists
32. From the following data calculate National Income by Income and Expenditure methods : (3, 3)

(Rs crores)

(i) Government final consumption expenditure 




100

(ii) Subsidies 









10

(iii) Rent 









200

(iv) Wages and salaries 







600

(v) Indirect tax 








60

(vi) Private final consumption expenditure 





800

(vii) Gross domestic capital formation 





120

(viii) Social security contributions by employers 




55

(ix) Royalty 









25

(x) Net factor income paid to abroad 






30

(xi) Interest 









20

(xii) Net domestic capital formation 






110

(xiii) Profit 









130

(xiv) Net exports 








70

OR

Calculate Gross National Disposable Income and Personal Income from the following data: (3, 3)

(Rs. Crores)

(i) Personal tax 








120

(ii) Net indirect tax 








100

(iii) Corporation tax 








90

(iv) National income 








1000

(v) Net factor income from abroad 






5

(vi) Consumption of fixed capital 






50

(vii) National debt interest 







70

(viii) Retained earnings of private corporate sector 




40

(ix) Net current transfers to the rest of the world. 




(-) 20

(x) Current transfers from government 





30

(xi) Share of government in national income 




80
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